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7. ( ) (A) Of course. It’s the most popular one in town.
(B) You’re right. Their food is the worst.
(C) No way. Why is it out of order?

8. ( ) (A) I’'m going to save this file.
(B) Open the top drawer, and you’ll see it.
(C) We’ll keep your records on file for ten years.

9. ( ) (A) I bought the jeans on sale yesterday.
(B) The lamp over there. It cost me a lot.
(C) That is the tallest apartment building in town.

10. ( ) (A) This is one of the oldest stores in the city.
(B) I started working at the store twenty years ago.
(C) The table over there. It’s almost 100 years old.

11. ( ) (A) Sure. Push it.
(B) The green one.
(C) You must do it now.

12. ( ) (A) Yeah, the air is fresh (HrfERY ) here.
(B) I don’t agree. The park is full of people.
(C) You’re right. There’s trash everywhere.
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12. ( ) (A) They are too busy at work.
(B) They do not make enough money.
(C) They have to make their blankets better.

13.( ) (A) She did not like it.

(B) It was her favorite machine.
(C) It was a gift from the woman.

14. ( ) (A) She doesn’t agree with the boy.
(B) She doesn’t like the jeans, but she has to wear them.
(C) She wants a pair of the boy’s jeans, too.

15. ( ) (A) She wants the man to fix the watch for her.
(B) She wants to sell the watch at a better price.
(C) She wants to buy the watch at a better price.

16. ( ) (A) Because it cost less to get to North City.
(B) Because it took less time to get to North City.
(C) Because Bus 404 was more comfortable.

17. ( ) (A) Listen to the radio.

(B) Give the man a call.
(C) Record her new song.
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19. ( ) It’s very hot in summer, so people seldom wear heavy
(A) styles (B) fans (C) jackets (D) prices
20. ( ) It’s Ruby’s 5°year- old birthday. There are five on the cake.
(A) shorts (B) candles (C) lights (D) items
21. ( ) Timneedsanew _ of shoes. His old shoes are too small for him.
(A) page (B) pair (C) dress (D) pants
22. ( ) isworse than air pollution (;F3%) because it will lead to serious breathing (0 ) problems.
(A) Earth (B) Planet (C) Nothing (D) Fashion
23.( ) Iamas as Cindy. We are both 58 kilograms.
(A) heavy (B) heavier (C) more heavy (D) more heavily
24. ( ) A: Do you like the songs? B: Yes, I like very much.
(A) it (B) that (C) ones (D) them
25. ( ) Who is , Abbe or Bella?
(A) the quieter  (B) more time (C) younger (D) hungriest
26. ( ) There are department stores in the country than in the big city.
(A) more (B) less (C) little (D) fewer
27. ( ) Jeff is the tallest the three boys.
(A) of (B) in (C) from (D) to
28. ( ) Alan used to his voice with a tape recorder, but he does that on his s smartphone now.
(A) recorded (B) recording (C) be recorded (D) record

FlRTHHZE (10%)
A.

Clerk: Thisisthe  29.  washing machine in our store. It’s also the fastest.
Put clothes in it and it will wash __30.__all in twenty minutes.
Customer: So fast! How do | start it?
Clerk: Pushthe _31. tostart.
Customer: | see. How much is it?

Clerk: It costs NT$ 7,900. The price is __32.__ now.

Customer: Ok. I’ll think about 33

29. ( ) (A) good (B) bad (C) best (D) least
30. () (A)it (B) that (C) them (D) they
31. ( ) (A) button (B) dress (C) file (D) radio
32. ( ) (A) high (B) cheap (C) lower (D) expensive
33. ( ) (A) again (B) that (C) one (D) ones
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B.

Welcome to the meeting, everyone. Today, we would like to talk about the new LED signs. We started trying them at some of our

restaurants months ago, and we are happy to see that they worked really well.

As you can see from the diagram, our restaurants became more and more popular over the past few months. Both the number

of customers and our profits grew.
Thanks to some studies from the marketing team, we conclude some reasons. First, these signs really get people’s attention. When
people walk by, they can see the bright light and notice our restaurant. Second, it helps us save money because LED signs use less

electricity. With LED signs, it costs less for our business. Let me stop here for a second. Any questions before | move on to the next

page?

diagram [& % profit #|;B marketing {74 conclude EF4A electricity 2 17

34. ( ) Which might be the diagram in the meeting?
(A) (B)

M Customers

[T Profits
| Costs |

© (D)

B Customers

Profits

Customers

/ Profits

February

May June July August

35. ( ) What might the company do next?
(A) Put up more LED signs.
(B) Pay more money for electricity.
(C) Sell LED lights to other companies.
(D) Turn off all the lights to save money.
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36. () Whatis the poster for?
(A) To ask people to eat more meat.
(B) To save local farmers’ business.
(C) To share local markets’ sale news.
(D) To encourage(5%f&f) people buy local food.

37. () Where are you most likely to see the poster?
(A) classroom
(B) clothes shop
(C) laundry
(D) supermarket

38. () Which is NOT true from this poster?
(A) It’s more expensive to buy local food.
(B) Buying local food helps local farmers’ health.
(C) People can know where the local food comes from.
(D) Farmers are nice to treat animals on the farms with the mark.
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D.

November 24" | 2024, was a special day for people in Taiwan. Our national baseball team beat Japan in the WBSC Premier 12
championship game and became world champion! This win was historic for Taiwan. Before winning the champion, few people
believed that Taiwan could beat such strong teams. Howevery, with hard work and teamwork, every player and staff members gave
their best. They showed the world that Taiwan can play great baseball.

O national EZZHY beat E&Fy WBSC Premier 12 t 5548k 12 58%% champion & staff T{EA &

39. () Whatis the reading about?

(A) The history of baseball in Taiwan.

(B) The teams in the WBSC Premier 12.

(C) Taiwan’s victory in the WBSC Premier 12.

(D) How did Taiwan national baseball team beat Japan’s.
40. ( ) Below are the writer’s points in the reading:

a. Taiwan won the Premier 12 championship in 2024.
b. Everyone on the team did their best and won people’s respect.

c. Taiwan’s championship in the Premier 12 is historic.

In what order does the writer talk about these points?
(A) a>b—oc (B) a»c—b (C) c>b—a (D) c>a—b
41. ( ) Which is NOT true?
(A) It happened during the Premier 12 tournament. tournament $EFEE
(B) Taiwan national baseball team won the championship.
(C) Not many people believed that Taiwan could beat such strong teams.
(D) Only hard-working players gave their best to win the game.

Open Al is a company that made ChatGPT. Open Al thinks people might use Al too much for friendship. One report says,
“ People might talk to Al more and talk to real people less.”

Imagine a future where Al changes how we interact with family and friends. We might talk to real people less, and this could
make some people feel lonely. Although Al can help people feel less lonely, the downside is that it may hurt real-life relationships.
It is important to use Al wisely and keep strong relationships with real people.

Al ( Artificial Intelligence) A T Z'E: imagine £8{% interact Z &fj relationship A JZREE (%

42. ( ) What is the reading mainly about?

(A) Al might become smarter than humans.

(B) Al might make people feel lonely.

(C) People don’t use Al very often.

(D) People might rely on Al too much for friendships. rely on {{<#&
43. ( ) What does the word “downside” most likely mean in the reading?

(A) something bad.  (B) something good. (C) something boring. (D) something interesting.
44. () What will happen if people talk to Al more than real people?

(A) People might feel popular.

(B) People might become lonely.

(C) People will stop using Al.

(D) People will become better at talking.
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F.

(Sandy got a call from a woman this morning.)
Woman: Is this Sandy Johnson?
Sandy: Speaking.
Woman: You didn’t pay your cellphone bills. If you don’t pay them right now, your telephone service will be suspected tomorrow.
Sandy: How could it be possible? | remember paying them.
Woman: No, you forgot to do it. We don’t get your payment.
Sandy: Then what should I do now?
Woman: Just do as | tell you. First, enter your bank account number.
Sandy: Oh, wait a minute. I’ll go get my bank book.

(Sandy’s husband, Jim, just came back from shopping.)
Jim: What are you looking for, dear?
Sandy: Oh, my bank book.
Jim: Why?
Sandy: A woman on the phone told me that | didn’t pay my cellphone bills.
Jim: Wait, Sandy! It’s a scam call.
Sandy: What?!
Jim: Hand up the phone ! I’ll call 165 and report the scam.
Sandy: Thank you, dear. You saved me from a big trouble. But we didn’t lose any money. 1 don’t think it’s necessary to call 165.
Jim: True, but if we don’t, a lot of people may be cheated out of their money.
Sandy: | agree with you.
Jim: Please don’t be so gullible next time, dear.
Sandy: Ok. I’ll be more careful.

scam ZEER  suspend Ef{Z payment {5730 bank account $R1 TR

45. () What does gullible mean in the dialogue?
(A) Quick. (B) Quiet. (C) Easily cheated. (D) Slowly driven
46. () Why does Sandy say | don’t think it’s necessary ?
(A) Nothing serious happened.
(B) She is too angry to say anything.
(C) She already called 165 and reported it.
(D) She wants to find her bank book first.
47. ( ) What is Jim going to do next?
(A) Make a phone call.
(B) Pay Sandy’s cellphone bills.
(C) Help Sandy find the bank book.
(D) Talk to the woman on the phone.
48. ( ) What can we infer from the dialogue?
(A) Sandy often forgets to pay her bills.
(B) Jim knows the woman on the phone.
(C) The woman on the phone is not honest.
(D) Jim and Sandy stay at home and do nothing.
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1 | left my pens in my desk d r, so | had to use Toby’s pen at school.
2. Thebagis | t and easy to carry. | really like it.
3. Itisveryc e to sit on a sofa after a long day of work.

4. What size skirt do you wear? | wear a m

5. The toilet in the public restroomis b

m.

n. We can’t use it now.

Fo &7 (5%)
A. B. : E.
museum post office Cross sidewalk row
6. He is so tall that he has to sit in the
7. We mail packages and letters in the
8. | often go to the to see some art works.
9. We can see many people jogging on the in the morning.
10.Be careful when you the street.
FHZE (10%)
Johnis (t)__11 Kevin, but he is 13 (@) 15 him.
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It 16 17 18 because I didn’t have enough space fornew 19

(iRl %4 )
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